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Pre-Calculus Chapter 4 Review
Evaluate the following: ——'"'l s
2 sn
a. sin30° N Yal. b. tan (—ZT) :'__ c. esc— S‘n(g"‘)

| sing =_~ ’1- csc=_~& :,/ o
cos@ = @/2. f7
r(Z

e

= z
‘Iy_ 13 i o /@

Evaluate all sjx trig functions of the ang]e =

w\ -

-5
“"“9=__I5 cotd = -«6
Find all six trig functions when the terminal side of the angle goes through the point (I2, 5).

sing = 5"’5 NB=E\ IS

\%
cosG:_‘_1/|_b secd = "5/!1.. 5
3 12, _ Ci
tan@ = /”- cotd = /g_ 12
If cos@ = >, and tan 8 > 0, find the values of sine and tangent. .
-5
—— Ve o
zr/ =2

tang =
Given f(x) = 8cos(2x +m) —3 =2 8C05(Z(X‘|' %\

!
v A e
a. Amplitude: ib b. Period: -""’2 =W . PhaseShit: 2 \ef+ d. Vertical Shift: oSN £

. Given f(x) —4cos(3x—— + 1

a. Domain: { ) b. Range: [-35 S_J

Graph three periods of the function: f(x) = —2cos(2x + m) H . 7_ P . “T ?6 .11_1'- L

\\-" 1 2x+ ,.)

-2(v) = - Z
-Uo)r &
~20-\) =
-2©) = g
n 2{0) ;.
Find one positive an‘d one negative angle coterminal to % T 2‘“ ‘0“- e=d
18T o . g VO _ -2 == 5

5S35 % 5 5
a. Positive: ;——'W' b. Negative: LJ_L
5 5
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Pre-Caleulus Chapter 4 Review

9. Evaluate the following (b and ¢ should be done without a calculator):

a. sin~1(0.766) b tan'1 c. sint2
- -b’ —E: [ )
50 av” QB‘I \"0<\. ELO.(._,L*. _.s 3 ot (00

10. The other day, my friend Erica bought a block of fancy cheese. The wedge had an angle of 15° and came from a wheel with

a d‘amcter ot‘ 10 inches. Find the pcnmetcr of the wedge of cheese,
277C . ‘\ ’D' 15 .m YP=5+5+41.32)
20 AT JZ/ =11 3|
erime r— Co. = L1 ‘ 6
p te S ( 3 D ﬁ"‘c \ €Y*‘3TL‘ B 6

11. Solve for x on the interval [0, %]

a. secx=2 b. sinx =235

‘W/?) Yo

12. The angle of elevation to Mrs. Leaptrott’s classroom from a point 100 feet away is 78°. Determine how high it is from the

base of the building to Mrs. Leaptrolt’s room. %
tan78 = —
X 5 [{ele]

Los \00t+an( 35'- K
neight= 470. 4% £+ 470.4 = X

13. You are trying to throw popcom into your friends mouth from 2 balcony 20 feet high. The angle of depression from you to
your friend is 40°. How far away does your friend ned to be to catch it?
fon 4o -

790
) X
o]
Distance=l_’é_-_8‘q F+ X x +a“ L}O ‘ 2 (;_?) 8(.,_

14. Solve the triangle for all angles and sides: X =
5 Tanl%O

z_ C)'L
545 > zﬁ:-tanﬁﬁ?; /C34anZ

; ‘5§§ j_ﬁﬁé' rod ()= Y (%5)-

504 120906

s L1 ¢

5

15. Solve (Hint: use your calculator...graphing might halp)

\‘I'C-Aa a secx=5 0<x<n7® b tanx=sinx —-r<x<m \L:.tany\

N «\3 W‘@ o™ Yp= S\nX
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Pre-Calculus: Chapter 4 Trig Review Sheet

Calculator INACTIVE

1. Consider an angle whose terminal side passes through the point (-2, -4). Find the ﬁ)llowing'
a. tand b. cscf c. cotd - : -
2 25 (5 L P
— —"— 1@ l

2. Consider the angle 8 = 42—” -4 2

Find one positive and one nc tlvc colcrmmal angle in radian form in the interval [—2m er-"
q-r{-)r 2T lOTT' \'L _ o ZTr 3

e - Aol A

3. Find the%xact vaﬁe of the foi)wmg un?cnrclcp l.l-ﬁs 5 5 5
a. tan— & ——\U\'\C‘ b. sm-% -"-I-’% c. sec%": -ﬁ d. csc— -1
-\

) C‘Otn ;@ f. cos— . ‘ﬁ- g. sin420°, \rﬁ- ;‘-S !

4. State the domam ancrrang,e in ml%rvag‘iwtatlon for each trigonometric functlon l \]E‘ @
a. cosx b. s'm Ty Hecw";r “jz S0
- 1y
Di-0000) TELY  w:ey T FEEEY b0 S ‘”ﬂ AN
5. Ifsin@ > 0andtand = — -, find the exact values of the followmg,
a. siné - l‘é Sro b. cotd.-~Z _) c. sech :.2(16 ] {...
0 T e Z - |-
200 o ” 3 = 10
6. State the exact values of the following:
a. arcsin¥Z b. arccns“l c. tan"11 d. arctan (-— 71—5)

Ty Wy, iy "

7. State the period, phase shift, amplitude, and vertical shift of f(x) = 3 cos (2x + ) + 1. Graph the function.

on othey Sheey a -

8. Write the equation of a sine function that has an amplitude of 4, period of —, a phase shift m units to the right, and

a vertical shift down 7 units. \I L‘ S\Y\ H: (X __-“-)3 __" \\,

9. Where on the mterval [—2m, 2n] are the following trig functions undefi neE’? K] = "”5
a. Cotangent C0S b. Secant. /C¢5 ¢, Tangent S\N/c¢
]—Ztr mlom’,zrl 0 & ¢ Tf/,,,’*“/z]
n which quadrants are the followmg trlg 'functions positive?
a. tan@ b. sec6 c. sind S A

11. Evaluate the following:
al 351“(”"/‘(1» b. arccos(tan) . tos) d. sin (st (2)) -,
An "‘74 22_ aceees(V) =0 ’YO-V\ -\ =1 Y‘(@E%
12, E\galuate cos(tan'1 - X‘g 3 ) g £ QC ——
A 00Se- Ys3 =| 8553
13. Graph the following functions: g3

- f() =2cscx b. f(x)——sm x——) 4

c. f(x)=2cotx+1

on  othe ot
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Calculator ACTIVE

14. Find the length of an arc created by a central angle of 135° with a radius of 7cm. S &7) ( ’{,JT) - \J
F‘lﬂ.\&hcj'r\« TO, ©ncodiehs 135 -TF % - 3y I

15. From the top of a 250ft tall bulldmg. a woman obsenfs a car moving towa
X

._When she first sees *

the car, her angle of depression is 12°. AN 18 . = W W ¥+ oA 150
a. How far is the car from the building? 7-51’ J L W\, -
b. If five seconds later, her angle of depression to the car is 34°, how far did the car travel in that time? 30.64

16. A hot air balloon is rising from ground level from a point 500ft away from the base of a photographer. If the ’805'52

photographer is holding his camera 5.5 feet above the ground.-with an angle of elevation of 13°, how high off the
ground is the hot air balloon?

FTan \3 ————~
e
1. Convertdegeestoradlansonlce \ersa. ¥ a=ls L}-s —rS' g = l?-() Qb
a 25° .70 %___ b. \8O\‘D § e -162. 7w [y
80 180 |0
18. Solve for all of variables in the triangles below. (Note: z is the entire top ange. 28 st

® J(Q\\(\b’a') :—j(—> @ ton(¥s) = (xt126)

(Xt+2 o)-’rctn\\g) 28.50
TI0NS fane)

X120 =\0b.b

\%=80.0 |
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